
6 h

20

390 = 9
da, 3 h

21

110 = 1
da, 1 u

22

101 = 1
u, 1, dau

=

u, 7 h

17

280 = 8
da, 2 h

18

599 = 9 u,
5 h, 9 da

19

620 2

23

530 =

9 u

27

900 =
9 da

28

280 = 8
u, 2 h

Qual è la giusta scomposizione? Maestra
Anita

Date:

,da5
,

3
da, 5 h

24

404 = 4
h, 4

3

da

302 = 2
h, 3 da

26

599 = 9 h

25

Name

=

16

4
h, 4 u

5

900
= 9 h

6

390 = 9
da, 3 u

7

703 = 3
u, 7

=

da

404
h

Vero

Falso

1

602 = 2
u, 6 h

2

690 = 9
h, 6 da

3

101 = 1
u, 1

4

8

100 =
h

13

530 = 3
h, 5 da

14

110 = 1
da, 1 h

15

620 = 2
da, 6 h

6,da
2

1 da

9

302 = 3
h, 2 u

10

690

703

=
da, 6 h

11

100
= 1 h

12

602 =9

:

Write in the item numbers in the list of boxes for each group
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